



St. Louis County, Minnesota

Date of Report: 12/17/2025 7:30:30 PM

General Details											
Parcel ID:	415-0010-04490	2 2 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3									
Legal Description Details											
lat Name: LAKEWOOD											
Section	Towns	ship Rang	Lot	Block							
17	51	13		-	-						
Description:	NW1/4 OF SE1/4	1 & W1/2 OF SW1/4 OF SE1/4									
Taxpayer Details											
Taxpayer Name	ULVI WILLIAM M										
and Address:	3175 BEYER RD										
	DULUTH MN 558	304									
		Owner Details									
Owner Name	ULVI WILLIAM M	ETUX									
		Payable 2025 Tax Su	mmary								
	2025 - Net Ta	ax		\$3,509.00							
	2025 - Specia	al Assessments		\$29.00							
	2025 - Tota	al Tax & Special Assessm	nents	\$3,538.00							
		Current Tax Due (as of 1	2/16/2025)								
Due May 1	5	Due October 1	5	Total Due							
2025 - 1st Half Tax	\$1,769.00	2025 - 2nd Half Tax	\$1,769.00	2025 - 1st Half Tax Due	\$0.00						
2025 - 1st Half Tax Paid	\$1,769.00	2025 - 2nd Half Tax Paid	\$1,769.00	2025 - 2nd Half Tax Due	\$0.00						
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00						
	Parcel Details										

Property Address: 3175 BEYER RD, DULUTH MN

School District: 709
Tax Increment District: -

Property/Homesteader: ULVI, WILLIAM M & MAUREEN K

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$105,600	\$160,800	\$266,400	\$0	\$0	-		
111	0 - Non Homestead	\$84,400	\$0	\$84,400	\$0	\$0	-		
	Total:	\$190,000	\$160,800	\$350,800	\$0	\$0	3282		





St. Louis County, Minnesota

Date of Report: 12/17/2025 7:30:30 PM

Land Details

Deeded Acres: 60.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

0.00							
ot guaranteed to be s	survey quality.	Additional lot	information can be	e found at	tyToy@atlouiocountyma ===		
gov/webPlatsiffame/i					iy i ax @ stiouiscountymn.gov.		
Voor Built	•		•	•	Style Code & Desc.		
					RAM - RAMBL/RNCH		
•		_					
-	-			_			
-		-		_			
	-						
·	•	_					
•		-					
•	•		•		HVAC		
		KOOIII C	ount	•	C&AIR_COND, WOOD		
2 BEDROOF					C&AIR_COND, WOOD		
	•		`				
	Main Flo	oor Ft ²		Basement Finish	Style Code & Desc.		
0	1,38	80	1,380	-	-		
Story	Width	Length	Area	Foundation			
1	30	46	1,380	POST ON GROUND			
ı	mproveme	nt 3 Detail	s (GREENHO	USE)			
Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
0	3,84	40	3,840	-	-		
Story	Width	Length	Area	Foun	dation		
1	24	32	768	FLOATING SLAB			
1	32	96	3,072	POST ON	GROUND		
	Improve	ement 4 De	etails (Storage	e)			
Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
1995	20	0	200	-	-		
Story	Width	Length	Area	Foun	dation		
1	10	20	200	POST ON	GROUND		
	Improveme	ent 5 Deta	ils (HIGH TUN	INL)			
Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
2011	2,30		2,304	-	· -		
Story	Width	Length	Area	Foun	dation		
	Year Built 1 Year Built 1 1 1 1 Bedroom Co 2 BEDROOF Year Built 0 Story 1 Year Built 0 Story 1 Year Built 0 Story 1 Year Built 0 Year Built 1 Year Built	Improvement Story Width 1 20 1 24 1 30 1 30 1 30 1 30 1 30 1 30 1 30 1 30 1 30 1 30 3 3 3 3 3 3 3 3	Improvement 3 Improvement 3 Improvement 3 Improvement 3 Improvement 4 Improvement 3 Improvement 3 Improvement 3 Improvement 3 Improvement 4 Improvement 5 Improvement	Improvement Improvement	Improvement Improvement		





St. Louis County, Minnesota

Date of Report: 12/17/2025 7:30:30 PM

		Improvem	ont 6 Dotoile	T 111 COOP						
Improvement Type	Year Built	-		s (T-111 COOP) oss Area Ft ²	Basement Finish	Style Code & Desc.				
LEAN TO	0	90		90 -						
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	9	10	90	POST ON GROUND					
Improvement 7 Details (5X8 SHED)										
Improvement Type	Year Built	-		oss Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	1995	40		40	-	-				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	5	8	40	POST ON GF	ROUND				
Improvement 8 Details (RED LT ST)										
Improvement Type	Year Built	Main Flo		oss Area Ft ²	Basement Finish	Style Code & Desc.				
LEAN TO	1930	40		400	Foundation					
Segment	Story	Width	3							
BAS	1	16	25	400	POST ON GF	ROUND				
		Improvem	ent 9 Details	s (W OF BARN)						
Improvement Type	Year Built	Main Flo	oor Ft ² Gr	oss Area Ft ²	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	1995	32	2	32	-					
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	4	8	32	POST ON GF	ROUND				
		Impro	vement 10 D	Details (PB)						
Improvement Type	Year Built	Main Flo	oor Ft ² Gr	oss Area Ft ²	Basement Finish	Style Code & Desc.				
POLE BUILDING	2016	64	8	648	-	-				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	18	36	648	POST ON GROUND					
Sales Reported to the St. Louis County Auditor										
Sale Date Purchase Price CRV Number						Number				
09/1994 \$15,000				10	01687					
09/1994		\$75,000 (T	his is part of a r	nulti parcel sale.)	.) 101688					





St. Louis County, Minnesota

Date of Report: 12/17/2025 7:30:30 PM

		A	ssessment Histo	ry			
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land E	Def 3Idg EMV	Net Tax Capacity
	201	\$105,600	\$158,400	\$264,000	\$0	\$0	-
2024 Payable 2025	111	\$84,400	\$0	\$84,400	\$0	\$0	-
	Total	\$190,000	\$158,400	\$348,400	\$0	\$0	3,256.00
	201	\$105,600	\$157,000	\$262,600	\$0	\$0	-
2023 Payable 2024	111	\$84,400	\$0	\$84,400	\$0	\$0	-
	Total	\$190,000	\$157,000	\$347,000	\$0	\$0	3,334.00
	201	\$100,800	\$157,000	\$257,800	\$0	\$0	-
2022 Payable 2023	111	\$80,300	\$0	\$80,300	\$0	\$0	-
	Total	\$181,100	\$157,000	\$338,100	\$0	\$0	3,241.00
	201	\$61,400	\$134,700	\$196,100	\$0	\$0	-
2021 Payable 2022	111	\$110,700	\$0	\$110,700	\$0	\$0	-
,	Total	\$172,100	\$134,700	\$306,800	\$0	\$0	2,872.00
		1	Tax Detail Histor	у			
		Special	Total Tax & Special		Taxable Building		
Tax Year	Tax	Assessments	Assessments	Taxable Land MV	MV	Total	Taxable MV
2024	\$3,517.00	\$25.00	\$3,542.00	\$184,529	\$148,865	\$3	333,394
2023	\$3,641.00	\$25.00	\$3,666.00	\$175,611	\$148,451	\$3	324,062
2022	\$3,527.00	\$25.00	\$3,552.00	\$165,966	\$121,243	\$2	287,209

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.